1000/c 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

10?

10

[EEY

0.5

7000 GeV pp Jets
_| T I T I T I I T | T I T I T I T I T | T I T I I T — ﬂ
- e
- Pruned Jet Mass(anti-kT(0.7), 21OOO<pT<1500, ly|<2.5) 13
=
- _ |
— [ To)
— A
Z e
i
L B {s2)
— —©
=
- |
o "B 1z
™
<
(40)
— — 0
— -1mM
— |
Z -
_ m CMS g, W >§
— --f3-- Herwig 7.2.0 default ‘ B =
—a— Pythia 8.170 default c
— ¢ Sherpa 1.4.2 default = EJ_
— R
_ mjs
o
— - O
—| | | | | | | | | | | | | | = E
:l T T T T | T T T T | T T T I:
— L] -
; ' “ ; 2
| " 1 1 " 1 1 " | " 1 1 " 1 1 " | " 1 " 1 " 1 .“. 1
0 100 200

(m_1+m_2)/2[GeV]



	Contents
	Page 1


